HAEBILEA =HA

LIHEHN (BT H=RFEMIAERMR)
BEANBAEREEETES
(B) ¥mM31F4H818 (8) HM24E3831H
(847 : [)
BENE LERE(A) BIEERE(B) IER(A)-(B)

IREEN BRI 0 0 0
) = BRI 604, 135, 246 409, 101, 050 195, 034, 196
I“ Y-ERESNGET (1) 604, 135, 246 409, 101, 050 195, 034, 196
; NS 381,901, 603 271, 885, 962 110, 015, 641
& e 67, 500, 899 36,932, 218 30, 568, 681
LARE=: - 98, 448, 229 66, 712, 031 31,736, 198
B\ B | im0z 22,018,120 22,128, 394 -110,274
;‘;)k [E BB EE R R EAREE -10, 515, 448 -10, 515, 448 0
=5 Y-EESEMET (2) 559, 353, 403 387,143, 157 172, 210, 246
Y-EXEBIERER (3) = (1) - (2) 44,781, 843 21,957, 893 22,823,950
4 el RG] 9,573 14,743 -5,170
2 g ZOMDY - REEISINZ 6, 235, 435 4,064, 100 2,171,335
B e R Ems st (4) 6, 245, 008 2,078,843 2,166, 165
i? B [STIFIR 1,239, 320 1,315, 004 -75, 684
e | B [D-CXEESMERET (5) 1,239, 320 1,315, 004 -75, 684
|- 2EBSMERERE (6) = (4) — (5) 5,005, 688 2,763, 839 2,241,849
REEEELE (7) = (3) + (6) 49, 787, 531 24,721,732 25, 065, 799
[ [ ux [rsmuuRzsst (8) 0 0

2| 2 0
8 |EEaERME- 0098 1 0 1
"ff 7 [FRIERET (9) T 0 i
up RIS (10) = (8) — (9) -1 0 -1
YESEEISHELE (11) = (7) + (10) 49,787,530 24,721,732 25,065, 798
Z AIERRMUEENEIRERE (1 2) 88, 725, 585 88, 003, 853 721,732
= | EENERE (13) = (11) + (12) 138 513, 115 112,725,585 75, 787, 530
% [ExammE (14) 0 0 0
5 [zoftomz e (15) 0 0 0
w (ZOMOEIEFEEE (16) 33, 000, 000 24, 000, 000 9, 000, 000
o [REEEETEREE (17) = (13) + (14) + (15) - (16) 105, 513, 115 88, 725, 585 16, 787, 530




